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	Reason for change:
	In the current TTCN implementation, the local Tree lt_LoopModeC_A is called twice if the condition [ px_SupportOpModeC AND pc_SupportOpModeA ] is fulfilled. This is a situation when this testcase will be run in OpMode C--> OpMode A loop. In this local tree, the power level settings for Cell A and Cell B are not correctly implemented. 

At end of first execution when the testcase has been run in OpMode C, this local tree is called. In the current implementation, the Cell B is set to suitable neighbour cell power, and Cell A is NOT set to serving cell power.  When the test step ts_GMM_SetOpModeA_UE_Off is called, the UE is first switched ON, and the user prompted to set the UE in OpMode A. At this point, the UE may camp on to Cell B, and fail the test. This needs to be corrected.

Later, when the second execution starts,  because Cell A has not been set to serving cell power, the UE never camps on the Cell A. This is also because earlier, the Cell A was not set to serving Cell power. This also needs to be corrected. 

	
	

	Summary of change:
	In the local tree lt_LoopModeC_A, set the power levels fo Cell B and Cell A correctly. Please see detailed description below.

	
	

	Consequences if not approved:
	TTCN implementation is not correct.
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2 Correction to Rel-99 testcase 12.6.1.3.2
2.1 Change 1
	Object name 
	lt_LoopModeC_A

	Reason for change
	In the current TTCN implementation, the local Tree lt_LoopModeC_A is called twice if the condition [ px_SupportOpModeC AND pc_SupportOpModeA ] is fulfilled. This is a situation when this testcase will be run in OpMode C--> OpMode A loop. In this local tree, the power level settings for Cell A and Cell B are not correctly implemented. 

At end of first execution when the testcase has been run in OpMode C, this local tree is called. In the current implementation, the Cell B is set to suitable neighbour cell power, and Cell A is NOT set to serving cell power.  When the test step ts_GMM_SetOpModeA_UE_Off is called, the UE is first switched ON, and the user prompted to set the UE in OpMode A. At this point, the UE may camp on to Cell B, and fail the test. This needs to be corrected.

Later, when the second execution starts,  because Cell A has not been set to serving cell power, the UE never camps on the Cell A. This is also because earlier, the Cell A was not set to serving Cell power. This also needs to be corrected..

	Summary of change
	In the local tree lt_LoopModeC_A, set the power levels fo Cell B and Cell A correctly. Please see screenshot below.

	Source of change
	

	Label
	WA#


Before change: 
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After change: 
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